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(a) 1

(b)

14+1=77

—
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flz) = e +a°
slope of tangent line at (1,e+4+1)7
f'(z) = e* 4 52*

(a)e+1

(b)e+5

(c) e® + 5z

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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W (x) = |
L (@)][g(2)] + [F(2)]ld' (2)] f(4)=7,f(4)=1

() 9(4) =6, ¢'(4) =3
F(D][g(8)] + [F (D]l (4)] h(z) = [f(z)]lg(z)]
h(4) =77, W(4) =77
(a) 42, 3
(b)13, 27
(c) 42, 27
(d) none of the above 0% 0% 0% 0%
= e > N

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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h(x) =
[g(2)][f' ()] — [f (x)][g' ()] f(4)=7, f'(4)=1
[9(2)]2 g(4) =6, 4'(4) =3
h(z) = [f(x)]/[g(x)]
h(4) =77, W(4) = 27

[g(DILF(4)] — [f(Dllg' (4)]
[9(4)]2

(a)7/6, (6 —21)/32
(b)7/6, (21 —6)/3°2
(c)7/6, (6 —21)/62

(d) none of the above 0% 0% 0% 0%
L= = = =\

n(4) =

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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d
— [3sinz 4+ 4cosxz] =77
dx

(@) (0)(cosz) + (0)(—sinx)

(b)3cosz + 4sinz

(c) 3cosxz — 4sinx

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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d
— [zsinz 4+ 4cosx] = 77
dx

(a) (1)(coszx) + (0)(—sinx)
(b) xcosz + 4sinzx

(C) xcosx — 4sinx

(d) none of the above
Correct: sine + xcosxz — 4singx
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R Vv > ™
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4 [sinx] = cosa
— |(@®)(sinz)| = 77

(a) (2z)(cosz)

(b) (22)(— cosx)

(C) (2z)(sinz) + (z?)(cos z)

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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d [Sin a:]
dx

=77
x

(a) (sinxz)(1) — (x)(cosx)

T

(b) (sinx)(1) —Q(m)(cos x)

T

(c) (z)(cosx) —2 (sinx)(1)

T

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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— [csc 0]

(a) — [csc O] [cot 0]

(b) — [csc 8] [cot 0]
(c) — [csc2 9}

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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(@) (sin)| = 77

dx

(a) (2z)(cosz) + (z2)(sin z)

(b) (2z)(sinz) + (z2)(cos )

(c) (2z)(cosx)

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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= 77

d [Sin .’I}]
dr | 22

(z2)(cosz) — (sinz)(2z)

(a) i

(€) (sinz)(2z) — (z2)(cos )

4

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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17

0of 5 Topic 0360 O pts




a4 [asl/?] — 77

(a) DNE

(b)[1/2] |~ 1/2]
(c) z1/2(In 2)

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

18

0of 5 Topic 0310 0O pts




d
—[7g;2+4a:—1 = 77

(a) Te+ 4
(b) 7>+ 42?2 —

(c) 14z — 1

(d) none of the above

0% 0% 0% 0%
Correct answer: 14x + 4 | < 5 . -
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T or F:
f decr. on I

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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T or F:
f decr. on I

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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d
— [cos 7] =77
dx

(a) O

(b)sin7

(c) —sin7

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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d

dx

(e®)(sin3)| = 77 W

(a) (e®)(cos 3)
(b) (€8)(sin 3) + (e8)(cos 3)

()0

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

23

0of 5 Topic 0310 0O pts




% (In8)(sin3)] = 77

(a) (1/8)(cos 3)

(b) 0

(c) (1/8)(sin3) + (In8)(cos3)

(d) none of the above
0% 0% 0% 0%

v

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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a4 [71/2] — 77

(a) DNE
(b)[1/2] [71/2]

() 71/2(In7)

(d) none of the above

0% 0% 0% 0%
Correct answer: 0O . 5 . -

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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a4 [asl/?] — 77

(a) DNE

(b)[1/2] |~ 1/2]
(c) z1/2(In 2)

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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—|In5| =77
dx[ ]

(a) DNE

(b)1/5

()0

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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. [((InB)x] = 77

(a)In5

(b) 0
(c) /5

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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. [((InB)x] = 77

(a) 0
(b)In5

(c) z/5

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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(a) O

(b) —2¢~2

(c) —e~2

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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(a) 0

(b) e™2

(c) —2e¢ 3z

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

31

0of 5 Topic 0310 0O pts




(a) z1/2

1/2
1/2

(b) =

(c) (3/2)z1/2

(d)none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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flz) =23, f'(z) =322

ed’'n of tan. line at
(2, 8)

(a) y — 2 = 3z2(x — 8)

(b) y — 8 = 3z?(x — 2)

() y—8=12(z — 2)

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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f(1) = 200
f(3) =800
avg rate of change?

(a) (800 — 200)/(3 — 1)

(b) (3—=1)/(800 — 200)
(c) (200 —800)/(3 — 1)

(d) none of the above
0% 0% 0% 0%

v

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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z:et—|—4t3
Nz =77

(@) [t (A0 4 a(t + (A6)3] + [¢f + 483
(D) [efH(AD — 4(t + (A1))3] + [ — 4¢3]

(€)

(d) none of the above

:et'l'(At) +4(t+ (At))iﬂ - :et + 4t3]

0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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—|In5| =77
dx[ ]

(a) DNE

(b)1/5

()0

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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flz) =23, f'(z) =322

ed’'n of tan. line at
(2, 8)

(a) y — 2 = 3z2(x — 8)

(b) y — 8 = 3z?(x — 2)

() y—8=12(z — 2)

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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f(1) = 200
f(3) =800
avg rate of change?

(a) (800 — 200)/(3 — 1)

(b) (3—=1)/(800 — 200)
(c) (200 —800)/(3 — 1)

(d) none of the above
0% 0% 0% 0%

v

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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z:et—|—4t3
Nz =77

(@) [t (A0 4 a(t + (A6)3] + [¢f + 483
(D) [efH(AD — 4(t + (A1))3] + [ — 4¢3]

(€)

(d) none of the above

:et'l'(At) +4(t+ (At))iﬂ - :et + 4t3]

0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

39

0of 5 Topic 0280 O pts




SAVE THE

SESSION
DATA

RETURN TO
PRESENTATION



